
Name: LösungsschlüsselErmitteln des Durchschnittes von 2 Zahlen
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Antworten

1. 545,5

2. 22

3. 44

4. 53,5

5. 59

6. 49,5

7. 858

8. 477,5

9. 318

10. 16,5

11. 46,5

12. 63

13. 39,5

14. 78,5

15. 68

16. 653

17. 16

18. 78,5

19. 64

20. 44,5

Ermittle den Durchschnitt des Zahlenpaares.

1) 935 & 156 1.091 : 2 = 545,5

2) 17 & 27 44 : 2 = 22

3) 55 & 33 88 : 2 = 44

4) 57 & 50 107 : 2 = 53,5

5) 57 & 61 118 : 2 = 59

6) 45 & 54 99 : 2 = 49,5

7) 863 & 853 1.716 : 2 = 858

8) 263 & 692 955 : 2 = 477,5

9) 510 & 126 636 : 2 = 318

10) 16 & 17 33 : 2 = 16,5

11) 45 & 48 93 : 2 = 46,5

12) 70 & 56 126 : 2 = 63

13) 46 & 33 79 : 2 = 39,5

14) 76 & 81 157 : 2 = 78,5

15) 47 & 89 136 : 2 = 68

16) 476 & 830 1.306 : 2 = 653

17) 15 & 17 32 : 2 = 16

18) 89 & 68 157 : 2 = 78,5

19) 97 & 31 128 : 2 = 64

20) 74 & 15 89 : 2 = 44,5
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